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CHAPTER 1: REVIEW NAME

7.  Name the ray opposite of       .

8.  What is another name for       ?

4.  Name another name for Plane A .

1.  Give two other names for 

2.  Name three points that are collinear.
3.  Name a point not coplanar with A, C, and T.

5.  What is another name for       ?

6.  Name all rays with endpoint    .



27.  Given that   1 is a complement of    2 and m    2 = 34o, find m   1.

28.  Given that     3 is a supplement of    4 and m   3 = 56o, find m   4.

29.  Two angles form a linear pair.  The measure of one angle is six more than 
four times the measure of the other angle.  Find the measure of each angle.

30.  Two angles form a linear pair.  The measure of one angle is two times 
greater than the measure of the other angle.  Find the measure of each 
angle.

(6x ­ 8)o(2x + 10)o

A

B C

D
15.

Find each angle measure.
16.  

(3x + 5)o (2x + 25)o

A B C

D

(4x + 20)o

(10x ­ 100)o
A B

C

D E

17.
Find ALL 4 angles!



31. 32. 33.

34. 35. 36.

37. 38. 39.
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